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b) .,V.Explam how. umc and ﬁcqucncy is measured. usm0 CRO. . - [5+5]

'Thxs questzon paper contains two pcuts A and B

Part A is compulsory which carries 25 marks. Answer all questions in Part A. Part B
consists of S Units. Answer any one full question from cach unit. Each question carries
10 marks and may have a, b, ¢ as sub questions.

PART - A
(25 Marks)

Define Accuracy. 2]
What is meant by D’Arsonval Movement? 3]
.. What is meant.by Harmonic Distortion? L [2]
‘What is Swéep frequency gefierator? 7 13]
What is the function of electron gun? (2]
List the different control knobs available on the front panel of the CRO. (3]
Define Gauge factor. [2}
What is the purpose of Hotwire Anemometer? {3]
- List the advantages of Wheatstone bridge. {2}
: ““What is the method for the measurement of qumd level? 13

PART -B
(50 Marks)

Discuss briéfly the different types of static errors of’a measuring instrument.
Explain the working of a true RMS voltmeter with the help of a suitable block diagram.

[5+5]
OR
Explain the working of Ramp type DVM.
‘Discuss the advantages of a dxgltal voltmeter over an analog voltmetex N {5+5]
Discuss the workmg of spectrum analyzer with its basic circuit.
Explain the working of Power Analyzer with a neat diagram. {5+5]
OR
With a neat diagram explain the working of Pulse and Square wave generator.
,Expiam the,wo;;](mg of Capacnance Voltage meter. v - I5+5]
Briefly explam the different types of storage osulloscopes.
What is the role of Time base generator? Explain. [5+5]

OR

What is sampling oscilloscope? Mention its advantages and disadvantages.
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- stretched and’ th:s causes a change in resistance of 0.001€2. Find the change in length if

10.a)
b)
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What are the factors to be conisidered for the selection of better transducer? Explain.

Explain the principle and working of an LVDT. [5+5]
OR

What is a transducer? Explain the working of Variable Capacitance transducer.

A 100€ strain guage with a guage factor of | is affixed to a metal bar, The bar is

the original length is 10cm. [5+5]

With a neat diagrain explain the working of Maxwell Br idge.

Explain the methods for the measurement of temperature. [5+5]
OR o

What are the limitation of Wheat stonc’s bridge” Derive the balance cquation of

Kelvin’s double bridge for unknown low resistance.

Discuss the principle of working of Displacement meters, £5+5]
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